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The figures in the margin indicate full marks

Jor the questions
1. Answer the following questions : 1x10=10
S 2PCART T faran
(a) Write one use of Edgeworth box
diagram. '
%oy I (IR5) o o1 IR=A Forar

() What is contract curve?

e
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(2)
(3)

(¢) Define pure public good
2x5=10

WWWWﬁml

2. Answer the following questions :
oo 2paRd Ted o

d :
(d) What is degree of monopoly power?

i @ s 7141 5 2 (a) Define two types of externality.

e) I : BT
(¢) In which market, there is selling cost? 72 AR SERCARCRIN

P IE9e [{& I3
AT ?
rceived demand

(b) Distinguish between pe
and proportionate demand.

() What is meant by strategy of a game? EOEY di
S T T I o e 2 ﬁq\wz o sk
| |

(g) Define signalling in a market

IG[T FCFST Heem|
3 1 fer Define Cournot’s oligopoly model.

W'\Nﬁ[‘ﬂ"’ﬁﬁﬁ(ﬁﬁmﬁﬂl

(c)

(h) What is duopoly market?

PR 791 % 2
p (d) What is market efficiency?
l) What is meant by

information? asymmetric T el 1 2

S2AfSg wep ot

&4 ?
(e) Distinguish between minimax and

() What is non-zero-sum hats ?' maximin strategies in game theory.

S0 - Q19T 3 3 9 e o R we AR TR T

of12fay forat |
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3. Answer any four of the following questions : () Is price discrimination under monopoly
5x4=20 desirable? Support your answer.

A23/852
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(a) Explain the concept of production
possibility frontier.

e SIS (@¥[ YREACH! 17T 9641 |

(b) What are the characteristics of public
goods? Explain.

el IR RPRPRR [ & 2

(c) Explain Lerner’s measure of degree of
monopoly power.

ARARE GFO0T WS TG (AR TE S0
1 40 |

(d) Explain how the saddle point is
obtained in a two-person zero-sum
game.

R-I& FH-@ (EE /e R @A
Tt =3, I 90 |

(e) Explain the concept of dumping in
a market.

JEES TIfF[5 IRCH LN F91 |

( Continued )

Gl IERe W Rt FMI 27 (ONE
TE] FoCF IS A |

4. Answer the following questions : 10%x4=40
T SRIIRT Tl ford

(@)

(b)
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Explain the conditions for Pareto
optimality.

(O[30’ ACATeN YRR TSR My 1 |
Or / g4l

Explain why there is no supply curve
under monopoly. Briefly explain any
two methods of regulating monopoly
power. 4+6=10
GO IERe @A @R TR, Em
1 | «zesion e g 999 R @e 9o
%S GYLF A 4 |

Explain diagrammatically the Bertrand’s
model of duopoly equilibrium.

JRGET TR SRR WIE fbux s
[0 F40
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Or / 791
Or / g
. Explain how  optimum  resource
Explain how a firm under monopolistic B ttion ™ can Mbe! obtained! withfithe
competition attains equilibrium both in B o chion Bossibility Mrontie:

the short and long run. and social indifference curve.

IR ARSI ITTS B B @ ot S (A S ST T GO

ZHA WF L@ STrel e 9¢d,
v
| fRgce ey TN [Re3q @emE Soes =,
e 41 |

(c) Write notes on adverse selection and
moral hazards which may arise due to S
information asymmetry with examples.
5+5=10

TR CTC® HUfST wag e Beofd (@[l

#fSge R oF (Afes Reifeq eome G
foram 1

Or / 7T

Explain the market equilibrium process
in case of a multi-plant monopoly.

RAfRT TN TwES T/ ST
e e amm w4

(d) Diagrammatically explain how
externalities in production and
consumption lead to market failure,

TR o (SR ARFOR @ 35K
e 52 wca, Baa F=rwe e 4 |
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